DATASHEET

MAXDAO

Hardware Kit, Slotted Hex Bolt, 3/8"-16UNC x1”, SS304

® Hardware Kit for standard hangers, includes
3/8"X1" hex head with slotted bolts and

hardware

- Y
0
2

Product Classification

Item Number

6002776

Part Number

Detail Description

Hardware Kit, Includes 10 3/8"X1" slotted hex bolts, 10
spring washers, 10 hex nuts, SS304

General Specifications

Material Stainless steel 304
Color Natural
Dimensions

Hex Bolt Size 3/8" - 16UNC X 1"
Spring Washer Size 3/8"

Hex Nut Size 3/8" - T6UNC

Packaging and Weights

Height, Packed

100 mm | 3.94in

Width, Packed

150 mm | 5.91in

UuoMm

Kit of 10

Packaging

Bag

Weight, Gross

0.28 kg | 0.62 Ibs

Certifications and Compliance

ISO 9001:2015

Designed, manufactured and/or distributed under this
quality management system

RoHS Compliant

REACH Compliant

For more information, please visit: ©Maxdao Inc. All rights reserved. Page 1 of 1
www.maxdao.com The information contained herein is subject to change without notice. We reserve the right to make technical

changes or modify the contents of this document without prior notice.

Revised: Aug 29, 2024
Public

TEMPLATE# ITM0401 VERSION A/8 DATE 08/20/2024


http://www.maxdao.com

